=
<

o(d @) (rad)
a(d cot(d))

1072k
1072

{00 0 N N o8 55 111318 S

-3 -2 -1 0 1 2 3 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQMstep3_TT_CKF

—e— DQMstep3_TT_default
—— DQMistep3_TT_defaultNEWTepo7

=~ 1 ~ 1
= F e
ST o
5t S
= =
R -
= (e
_O/ -
T Lo 5

I ! 1074

1074

1.4F : i

1.2+ i

a1 :

osf--+- 4 - Hi mm : F L

-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

Ratio

iy

0P /P,

,_.
<
L

Ratio

0.

1 2 3
TP n (PCA to beamline)

el



	Contents
	Page 1


